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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁ”ÛÛ ™öé.  
Instruction : All questions carry equal marks. 
 
1. …ÛÜ¬ÛÙïõ ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 14 
 What is Economic System ? Explain its characteristics. 
          …¬ÛÈÛÛ/OR 

 (a) ÈÛé¸ÛÛÁõÈÛÛþù¶ÛÛ× ŠþÕù½ÛÈÛ¶ÛÛ× ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë.  
  Discuss the causes of the origin of mercantilism. 
 (b) ¾Ûäî©Û ÈÛé¸ÛÛÁõ¶ÛÛ× ÅÛÛ½Û ÈÛ¨ÛÙÈÛÛé.  
  Describe the advantages of free trade. 
 

2. ¾Ûæ¦øàÈÛÛþù¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ¾Ûæ¦øàÈÛÛþù¶Ûà ¾Ûä”ýÛ …ÛÜ¬ÛÙïõ ÍÛ×Í¬ÛÛ…Ûé¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé. 14 
 Explain the meaning of Capitalism and explain the main economic institutions of 

Capitalism. 
                  …¬ÛÈÛÛ/OR 
 ¾Ûæ¦øàÈÛÛþù¶Ûà ÜÍÛÜ±ù…Ûé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé.  
 Explain the strengths and weakness of Capitalism. 
 

3. ÍÛ¾ÛÛ›÷ÈÛÛþù¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà, ©Ûé¶ÛÛ ¾ÛÐü«ÈÛ¶ÛÛ× ÅÛ“Û¨ÛÛé ©Û¸ÛÛÍÛÛé. 14 
 Define Socialism and examine its main features.  
                 …¬ÛÈÛÛ/OR 

 (a) ïõÛÅÛÙ¾ÛÛïÙõÍÛ¶ÛÛé …ÜµÛÉÛéÌÛ ¾ÛæÅýÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  
  Explain the Karl Marx’s theory of surplus value. 
 (b) ÍÛÛ¾ýÛÈÛÛþù¶Ûà Ü¶ÛÌºõÇ©ÛÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
  Explain the failure of Communism. 
 

4. •ÛÛ×µÛàœ÷¶ÛÛ× ¸ÛÛýÛÛ¶ÛÛ× …ÛÜ¬ÛÙïõ ÜÈÛ˜ÛÛÁõÛé ›÷¨ÛÛÈÛÛé.  14 
 Discuss basic features of Gandhian Economic Thought. 
               …¬ÛÈÛÛ/OR 
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 (a) •ÛÛ×µÛàœ÷¶ÛÛ× ÈÛÛÅÛà¸Û¨ÛÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain Gandhiji’s principle of Trusteeship. 
 (b) •ÛÛ×µÛàœ÷¶ÛÛ× ýÛ×ªÛÛé¶ÛÛ× Š¸ÛýÛÛé•Û …¶Ûé •ÛóÛ¾ÛÍÈÛÁõÛ›÷ …×•Ûé¶ÛÛ× ÜÈÛ˜ÛÛÁõ ›÷¨ÛÛÈÛÛé.  
  Explain Gandhiji’s idea on the use of machines and Gram Swaraj. 
 
5. (a) ¶Ûà˜Ûé¶ÛÛ× ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …éïõ ïéõ ¼Ûé ÈÛÛîýÛ¾ÛÛ× ÅÛ”ÛÛé : 7 
  Answer the following questions in one or two sentences : 
  (1) ÍÛÛ¾Û×©ÛÉÛÛÐüà ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ? 
   What is feudalism ? 
  (2) ¾Ûäî©Û ÈÛȩ́ ÛÛÁõ …é¤øÅÛé ÉÛä× ? 
   What is free trade ? 
  (3) •ÛóÛÐüïõ ¾Ûæ¦øàÈÛÛþù¾ÛÛ× ¼Ûé©ÛÛ›÷ ¼ÛÛþùÉÛÛÐü ÉÛÛ ¾ÛÛ¤éø ïõÐéüÈÛÛýÛ ™öé ? 
   Why the consumer is ‘The King in capitalism’ ? 
  (4) Das capita ¸ÛäÍ©Ûïõ ïõÛé¨Ûé ÅÛ”ýÛä× ? …¶Ûé ©Ûé¾ÛÛ× ïõˆ …ÛÜ¬ÛÙïõ ¸Û±ùÜ©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÈÛÛ¾ÛÛ× 

…ÛÈÛà ™öé ? 
   Who wrote the book ‘Das Capita’ and which economic system is criticized 

in this book ? 
  (5) ÍÛ¾ÛÛ›÷ÈÛÛþù¾ÛÛ× …¬ÛÙïõÛÁõ¨Û¶Ûä× ÍÛ×˜ÛÛÅÛ¶Û ïõÛé¶ÛÛ ÈÛ¦éø ¬ÛÛýÛ ™öé ? 
   Who governs the economy in Socialism ? 
  (6) ÍÛÛ¾ýÛÈÛÛþù …é¤øÅÛé ÉÛä× ? 
   What is Communism ? 
  (7) •ÛÛ×µÛàœ÷¶ÛÛé ÍÛÈÛÛëþùýÛ¶ÛÛé ”ýÛÛÅÛ ›÷¨ÛÛÈÛÛé.  
   State the Gandhiji concept of Sarvodaya. 
 (b) ¶Ûà˜Ûé¶ÛÛ× ¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé (MCQ) : 7 
  Answer the following Multiple Choice Questions : 
  (1) …ÛÜ¬ÛÙïõ ¸Û±ùÜ©Û …é ïéõÈÛÛ ¸ÛóïõÛÁõ¶Ûä× ÍÛ×•Û¥ø¶Û ™öé ? 
    (a) ÍÈÛíé˜™öàïõ (b) ÅÛÛéïõÉÛÛÐüà 
    (c) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ (d) ïõÛýÛÙ“Û¾Û 
    Which type of organisation is the economic system ? 
    (a) Voluntary (b) Democratic 
    (c) Changing (d) Efficient 
  (2) ïõˆ …ÛÜ¬ÛÙïõ ÍÛ×Í¬ÛÛ ¾ÛÛªÛ ¾Ûæ¦øàÈÛÛþù¾ÛÛ× ¾Ûä”ýÛ ™öé ? 
    (a) ¶ÛºõÛ¶ÛÛé Ðéü©Ûä (b) ¶ÛºõÛé 
    (c) ÐüÁõàºõÛˆ (d) ÈÛÛÁõÍÛÛ¸Ûó¬ÛÛ 
    Which economic institution is main in Capitalism ? 
    (a) Profit objective (b) Profit 
    (c) Competition (d) Inheritance  



  (3) ïõýÛÛ× …¬ÛÙ©Û×ªÛ¾ÛÛ× ½ÛÛÈÛ©Û×ªÛ ¸ÛÛýÛÛ¶Ûà ÍÛ×Í¬ÛÛ ™öé ? 

    (a) ÍÛ¾ÛÛ›÷ÈÛÛþù (b) ¾Ûæ¦øàÈÛÛþù 
    (c) ÍÛÛ¾ýÛÈÛÛþù (d) Ü¾ÛËÛ …¬ÛÙ©Û×ªÛ 
    In which economic system, Market mechanism is basic institution ? 
    (a) Socialism (b) Capitalism 
    (c) Communism (d) Mixed Economy 
  (4) Š©¸ÛÛþù¶Û¶ÛÛ× ÍÛÛµÛ¶ÛÛé¶Ûà ¾ÛÛÜÅÛïõà ÍÛ¾ÛÛ›÷ÈÛÛþù¾ÛÛ× ïõÛé¶Ûà ÐüÛéýÛ ™öé ? 

    (a) ÍÛ¾ÛÛ›÷¶Ûà (b) ÈýÛÜî©Û¶Ûà 
    (c) ”ÛÛ¶Û•Ûà (d) ÍÛ×ýÛäî©Û ¾ÛÛÜÅÛïõà¶Ûà 
    Who is owner of production resources in Socialism ? 
    (a) Society (b) Individual 
    (c) Private (d) Joint ownership 
  (5) ïõˆ …ÛÜ¬ÛÙïõ ¸Û±ùÜ©Û¾ÛÛ× ÜÈÛïéõÜ¶®ù©Û …ÛýÛÛé›÷¶Û¶Ûà ©ÛÁõºéõ¨Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

    (a) ¾Ûæ¦øàÈÛÛþù (b) ÍÛ¾ÛÛ›÷ÈÛÛþù 
    (c) ÅÛÛéïõÉÛÛÐüà ÍÛ¾ÛÛ›÷ (d) Ü¾ÛËÛ …¬ÛÙ©Û×ªÛ 
    Which economic system favours the descentralized planning ? 
    (a) Capitalism (b) Socialism 
    (c) Democratic socialism (d) Mix economy 
  (6) •ÛÛ×µÛàœ÷…é ïõˆ ÍÛÛÅÛ¾ÛÛ× Áõ˜Û¶ÛÛ©¾Ûïõ ïõÛýÛÙ’õ¾Û Áõ›æ÷ ïõýÛÛë ? 
    In which year Gandhiji started ‘constructive’ program ? 
    (a) 1940 (b) 1941 
    (c) 1939 (d) 1942 
  (7) ÁéõÜ¤øýÛÛé …¶Ûé ”ÛÛþùà…é •ÛÛ×µÛàœ÷¶Ûà ïõˆ ýÛÛé›÷¶ÛÛ¶ÛÛ× …ÛµÛÛÁõ Í©Û×½Û Ðü©ÛÛ× ? 

    (a) …ÍÛÐüïõÛÁõ (b) ÍÈÛþéùÉÛà 
    (c) ÍÛÈÛÛëþùýÛ (d) …ÝÐüÍÛÛ 
    ‘Rentiyo and Khadi’ were the pillars of which of the Gandhian planning ? 
    (a) Non-cooperation (b) Swadesi  
    (c) Sarvodaya (d) Non-violence  

NE-111 3 P.T.O.  

________ 



NE-111 4  

 


	NE-111 
	November-2013 

